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ST. LAWRENCE HIGH SCHOOL

27, BALLYGUNGE CIRCULAR ROAD

FOR GOD AND COUNTRY

Class : 11 Subject : MATHEMATICS Term : FIRST TERM Max Marks : 60

Marks: 1

T sin(45°—0) =7
a) Tlg (sin@ — cos 0)
b) % (sin @ — cos 0)
c) %(_ sin @ + cos )
d) Tlf(— sin 8 + cos 0)

4.d |Zl ( This Answer is Correct )

Q2: tan A = % & tan Atan B = 1, then the value of (A+B) = ? Marks : 1

g &
SIEE RN IE

sa

4.d E ( This Answer is Correct )
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cos 9°+sin 9°

?

cos 9°—sin 9°

a) sin 54°
b) cos 54°
c) tan 54°
d) cot54°

1. a
2. b
3.c
4. d

Marks :

|Zl ( This Answer is Correct )

. Marks :
Q4: IfANB =¢,thenn(AUB) =
a) n(4) + n(B)
b) n(4) — n(B)
c) 0
d) None of these.
1. a |Zl ( This Answer is Correct )
2. b
3. c
4. d
Q 5 . ofl,}ati:; {0,1,2,3,4} and f : A - Zbe defined by f(x) = x* — 5x + 2, Then the range Marks .
a){2,4} ; b){2,-2,4}; ¢){0,2,4} ; d)None of these.
1. a
2.b |Zl ( This Answer is Correct )
3. c
4. d
Q6: 1
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Three numbers are in A.P. and their sum is 21, then the middle number is

a) 5
b) 6
c) 6.5
d) 7

Marks :

|Zl ( This Answer is Correct )

Q7:

Ifz=-2—+—-5thenz ="

a)—2+\/—_5
b)2 —V-5
c)Z-I-\{—_S
d) 2i — 5

Q8:

Which one is true ?

a)2+3i>1+4i
b)5+9i > 9 + 5i
c)5—9i>9+5i
d) None of these.

Q9:

The modulus of the complex number 1 + /-8 =?

a) 2
b)-5
c) 8
d) 3

https://www.slscampuscare.in/QuestionBank/QuestionBankReport?menuid=501
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|Zl ( This Answer is Correct )

Marks :
|Zl ( This Answer is Correct )

Marks :
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3. c
4. d E ( This Answer is Correct )
Q10: Which of the followings is false ? Marks :
a. n<2"
b. 3" >2"
c. 3"<n®, wheren>4
d. None of these.
1. a
2. b
3.c |Zl ( This Answer is Correct )
4. d
Q11: vn € N, 32"+2) _ 8n — 9 is divisible by - Marks :
a.67 ; b.76 ; c 46 ; d.64
1. a
2. b
3. c
4.d E ( This Answer is Correct )
Q12: Find the solution set where, |2x — 3| < 5,x ER. Marks :
a)[-1,4) ; b) (-1,4] ; ¢) [-1,4] ; d)(-1,4)
1. a
2. b
3.c¢ E ( This Answer is Correct )
4. d
Q 13 : If one root the quadratic equation 4x2+4x+7=0is Marks :

- % 1+ \/Gi) , then the other root is ?

a)—2—V6i; b)—2+3V6i ; c)3+3V6i ; d)Noneof

these.
1. a
2.b
3. ¢
4. d

m ( This Answer is Correct )
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Q 14 - The condition for which the straight line ax + by + ¢ = 0 will be parallel Marks :
to x-axis is —
a.ax0,b=0
b.a=0,b%0
c.az0,b#0,c=0
dc#0,b=0
1. a
2.b E ( This Answer is Correct )
3. ¢
4. d
Q 15 : The area of the triangle which the straight line 3x + 4y — 12 = 0 makes Marks :
- with the coordinate axes is —
a. 4 sq. units
b. 5 sq. units
c. 6sq. units
d. 6.5 sq. units
1. a
2. b
3.c |Zl ( This Answer is Correct )
4. d
Q 16 : The perpendicular distance of the st. line 6x - 8y = 25 from the point Marks :
) (-2,-4)is—
a. 0.5 units
b. 0.25 units
c. 1 unit
d. 2 units
1. a m ( This Answer is Correct )
2. b
3. ¢
4. d
Q 17 - The equation x* + y% + 2gx + 2fy + ¢ = 0 represents a point-circle when Marks :
a g*t+fi=—-c
b g’ —f*=c
c g*+ft=c
d —g*+f2=c
1. a
2. b
3.¢c |Zl ( This Answer is Correct )
4. d
: . 7Y-5Y Marks :
Q18: The value of lim =7
y—0 ¥
5 7
alog.(7) ; blog () ; 90 ; @1
1. a
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2.b E ( This Answer is Correct )
3. ¢
4. d
Q19: Ifsing = —2, then 6 = ? Marks :
a) 30° b) 120° c) 150° d) 210°
1. a
2. b
3. ¢
4.d E ( This Answer is Correct )
Q20: sin(@ — 540°)=7? Marks :
a) sin@ b) —sin@ c) cos@ d) -—cos@
1. a
2.b m ( This Answer is Correct )
3. ¢
4. d
Q21: If sinf = % , then the value of cos 20 = ? Marks :
7
a) %
b) %—5
C) ET
d) 7
1. a
2. b
3. ¢
4. d E ( This Answer is Correct )
Q22: Which of the following sets is null ? Marks :

a) {0}
b) {¢}

c) {x:xisanintegerand1 < x < 2}
d) {x:xisareal number and 1 < x < 2}

1. a
2. b
3.c
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. Marks: 1
@' IfAc BandB C Athen -
a) A=¢
b) ANB=¢
c) A=B
d) None of these.
1. a
2. b
3.c E(This Answer is Correct )
4. d
Q24: Marks: 1
x € AU B, then -
a) xeAANXEB
b) xeB
c) xXEAVXERB
d) x¢ A
1. a
2. b
3.c |Z|(This Answer is Correct )
4. d
Q25 is—lf R={(3,9),(5,25),(7,49), (2, 8), (4, 64) } be a given relation then range of R Marks: 1
a) {2,3,4,5,7} ; b){2,4} ; ¢){3,5,7} ; d) {8,9,25, 49,64}
1. a
2. b
3. ¢
4.d E(This Answer is Correct )
Q26: 1
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Total number of relations can be defined from setA={a, b, c} tosetB={1,2} ?

Marks :

a)23 ; b)2° ; ¢2° ; d)2¢
1. a
2.b |Zl ( This Answer is Correct )
3. ¢
4. d
Q 27 . 2sin10°sin40°=7? Marks .
a) cos 30° — cos50° ; b) cos30° + cos50° ; c) cos 50°— cos30° ; d) None of these
1. a |Zl ( This Answer is Correct )
2. b
3. ¢
4. d
Q28: c0s36° = ? Marks :
a5 Bt g L2 Q) 10+2V5
1. a
2.b |Zl ( This Answer is Correct )
3. ¢
4. d
. 11 . .
Q29: The 5 term of the sequence {3, 1, 39 } is — Marks :
1
a) 2—17
b) 1—15
c) a1
1
12
1. a |Zl ( This Answer is Correct )
2. b
3. ¢
4. d
Q30: If three unequal real numbers are in GP, then their reciprocals Marks :

are in -

a) AP

b) GP

c) Arithmetico-Geometric series
d) None of these.

1. a
2.b
3. ¢
4. d
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Q 31 - The relation between AM & GM of two unequal positive number Marks :
" is —
a. AM > GM
b. AM < GM
c. AM > GM
d. AM > GM
1. a
2. b
3. ¢
4.d E ( This Answer is Correct )
Q32: If 7 is multiplied to each term of a GP, Then the resulting series Marks :
isa-
a) AP
b) GP
c) Arithmetico-Geometric series
d) None of these.
1. a
2.b |Zl ( This Answer is Correct )
3. ¢
4. d
Q33: If 9 is added to each term of a GP, Then the resulting series is a Marks :
a. AP
b. GP
c. Arithmetico-Geometric series
d. None of these.
1. a
2. b
3. ¢
4.d |Zl ( This Answer is Correct )
Q34: Marks :

Ifz=-3+5ithenz ="

a) —3 — 5i
b) 3 + 5i
c) 5+3i
d)5—3i

1. a
2. b
3. ¢
4. d

|Zl ( This Answer is Correct )
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Q35: 1+i+i2+i3+i*=?7?Where i =+/—1 Marks :
a)o
b)1
c) i
d)2
1. a
2.b E ( This Answer is Correct )
3. ¢
4. d
Q36: The Sum of the cubes of the first n natural numbers is — Marks :
and+1
. (e
c.nd
d. None of these.
1. a
2.b m ( This Answer is Correct )
3. ¢
4. d
Q37: ¥n € N, 4" + 15n — 1 is a multiple of - Marks :
a9 ; b.7 ; ¢ 5 ; d.13
1. a |Zl ( This Answer is Correct )
2. b
3. ¢
4. d
Q38: The sum of the roots of the equation 3x* —5x +7 = 0 is ? Marks :
s b)-2 5 9= 5 d)F
1. a
2. b
3. ¢
4. d |Zl ( This Answer is Correct )
Q39: If the intercepts on the x-axis and y-axis of a straight line be (-4) and 6 Marks :

respectively, then the equation of the line is —

. 3x—-2y=12
. 3x—-2y+12=0
. 3x+2y=12
. 3x+2y+12=0

o o

o
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E ( This Answer is Correct )
2.0
3. ¢
4. d
Q40: The straight line joining the points (-3 , -4) & (2, 5) is — Marks :
a 5x—-9y=21
b. x-2y+8=0
c. 9x—-5y=-7
d 4x-3y=-7
1. a
2. b
3.c E ( This Answer is Correct )
4. d
Q41: The angle between the linesx =aand y = b is — Marks :
a. 0degree
b. 90 degree
c. 180 degree
d. None of these.
1. a
2.b |Zl ( This Answer is Correct )
3. ¢
4. d
Q42: Which of the following is the slope of any line parallel to the line Marks :
ax + by + ¢ = 0 (a &b are non zero) ?
at
b. -§
b
¢a
d -2
1. a
2.b E ( This Answer is Correct )
3. ¢
4. d
Q43: The radius of the circle x% + yZ +4x -8y =5is- Marks :

5 unit
4 unit
3 unit

I

6 unit

1. a
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2. b
3. c
4. d

Q44: The position of the point (-3 , -2) with respect to the circle Marks :
2+y*—3x+2y—19=0is—
a) Inside the circle b) Outside the circle
¢) On the Circle d) None of these.
1. a |Zl ( This Answer is Correct )
2. b
3. ¢
4. d
Q4s: The value of lim e-1 =7 Marks :
x—0 2x
s, b:, 9>, d:
1. a |Zl ( This Answer is Correct )
2. b
3. ¢
4. d
Qa6: The value of lim log(1+4x) =7 Marks :
x—0 3x
a4, b)3, g ; , d 5
1. a
2. b
3.c |Zl ( This Answer is Correct )
4. d
Q47: 2 (@*) = ? (Where , a > 0) Marks :
a)log.(a®) 5 b) a¥log,(@") ; < alog,(a®) ; &) a¥log,(a)
1. a
2. b
3. ¢
4.d E ( This Answer is Correct )
Q48: 1
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n€=? Marks :
a) log.(a®) b) a*log,(a*) ; ¢ e* ; d) a*log,(a)
1. a
2. b
3.c |Zl ( This Answer is Correct )
4. d
Q49: Minimum value of 26in8)* 4 2(cos6)® g _ Marks :
a) 1 b) V3 ¢v2 d)2v2
1. a
2. b
3. ¢
a.d |Zl ( This Answer is Correct )
Q50: tan 70° — tan 50° + tan 10° = ? Marks :
a) V1
b) vZ
c) 3
d) V3
1. a
2. b
3. ¢
4. d E ( This Answer is Correct )
Q51: Marks :
1 V3
— — ?
sin10® cos 10°
c) 6
1. a
2.b |Zl ( This Answer is Correct )
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3. ¢
4. d
Q52: If 3f(x) + 2f(—x) = 5(x — 2), then the value of f(0)is? Marks :
a)l1 b) 0 ; €) -2 ; d)2
1. a
2. b
3.c |Zl ( This Answer is Correct )
4. d
Q53: Given 2cos@=x+ i . Then the value of cos20 = ? Marks :
a) x? + =
1.2, 1
b) 3G+
9 »¥+ =
1 1
d) 3 (13 + =
1. a
2. b |Zl ( This Answer is Correct )
3. ¢
4. d
Q 54 . 5'Glth’;lf:rs|1e:)(f;;lglienr‘lll:lnlz’l;i:siin_an A.P.is 12 and the sum of their squares is Marks .
a) {2, 3,7}
b) {2, 4, 6}
c) {4, 38,5}
d) {1,4,7}
1. a
2.b E ( This Answer is Correct )
3. ¢
4. d
Q55: The argument of the complex number z = 3iis — Marks :
n 4 m
a) w H b) E H C) 5 H d) E
1. a
2.b E ( This Answer is Correct )
3. ¢
4. d
Q56: 1
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Find the solution set where, [x + 2| >3, x ER.
a) [—5,1]
¢) (=»,-5]U[1, ©)  d)(-»,=5]U(1, =)

b) (=5,1)

Marks :

1. a
2. b
3.c |Zl ( This Answer is Correct )
4. d
Q57: The circle (x + 2)? + (y — 3)? = 4 touches — Marks :
a. Both the axes.
b. The x-axis
c. The y-axis.
d. None of these.
1. a
2. b
3.c E ( This Answer is Correct )
4. d
Q58: The diameter of the circle concentric to the circle Marks :
X+ yz + 4x — 2y = 20 and passes through the origin is —
a. 10 unit
b. V20 unit
c. V5 unit
d. None of these.
1. a
2.b E ( This Answer is Correct )
3. ¢
4. d
Q59: o (e 4x3+ L +a)-n Marks :
The value of lim =7
x—1 x—1
i n(n+1) n(n-1) . (n+1)
aln  ; b)—; i iod) ——
1. a
2. b |Zl ( This Answer is Correct )
3. ¢
4. d
Q60: Let 5£(x) +3f (3) = x +2and y = xf (x). Then (22),_, =? Marks :
@ 2 ® 1 @ I @ 3
1. a

https://www.slscampuscare.in/QuestionBank/QuestionBankReport?menuid=501

15/16



3/23/2021 Entab - CampusCare®| School ERP Software

2. b
3.c |Zl ( This Answer is Correct )
4. d
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